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UP SI MOCK TEST - 42 (SOLUTION)

81. (A) For the number to be divisible by 107,
it must contain the same powers for 2
and 5 Power Of 2 = 25+2A8+7+3.12+6+2A14+ 11 =
25+16+7+36+6+28+11 = 2109

POWer Of 5 = 53+6+12+14+2415 = 65
=>n=065

Let total number of boys = x

Let total number of girls = 70% of x =
0.7x

Total = x+ 0.7x

85 =1.7x

=x=150

Number of boys = 50

Number of girls = 0.7 x 50 = 35
Number of boys playing only badminton
= 50% of 50 = 25

No. of children playing Table Tennis
only = 40% of 85 = 34

No. of children playing both = 12

No. of girls playing only Badminton =
Total students — Boys playing only
Badminton —-Children playing both
games — Children playing only Table
Tennis

=85-25-12-34=14

For similar triangles,

Area of triangle 1/Area of triangle 2

82.

83.

5_\/7—4\/§X7—4J§
LT 7+4J3 7+43

2
L |(7-4V3) o
= L\ 20 s [after rationalisation)]
49-48

:% =7-43

(0.1)* +(0.01)* +(0.009)
4. () \/(0.01)2 +(0.001)” +(0.0009)’

(0.1)* +(0.01)* +(0.009)’
= 10.01+[(0.001)" +(0.0009)" |

1
Vo.01 ~ V100
10

Ph:

09S5S551088S8

85.

86.

87.

88.

89.

> 099SS55208888

(B) Let d,, d, and d, be 20 km, 10 km and
30 km and S, S,, S, be 40 km/h, 10
km/h and 40 km/h.

once, T, = 4220 Ly
ence, T, S, 20" 2 T.
d, 10
T, = S, —ﬁ—lhr.
d, 30 3
L s, Ta0 "a
Total distance = 20 + 10 + 30 = 60 km
. 1 3
Total time = 5 +1+ —
2+4+3 9
= P =2 hr.

60
Speed = 9 " 4 = 26.67 kmph

(D) Let 'F' for father, 'M' for mother, 'A' for
Sonu, 'B' for Savita & 'C' for Sonia (for
present ages)
F+M+A+B+C=96
When Sonu was born:
= (F-A) + (M-A) + (A-A) + (B-A) + (C-A) = 66
=F+M+A+B+C-5A=66
=96 - 5A = 66
= 5A =96 - 66
=A=30/5=6
Also, F = 6A = 6 x 6 = 36 years
After 12 years
Father’s age = F + 12 = 36 + 12 = 48
years
Let the price of one lemon juice bottle
=33Ix
So, the price of one orange juice bottle
=32x
So, the price of one orange and 4 lemon
juice bottle will be = 2x + 4x = 6x
Z’ share in this will be = 6x/3 = 2x = 50
Therefore 2x = price of orange juice
bottle = ¥50
(D) 518 + 519 4 520
=57(1+5+5%2+ 59
= 5!7(156)
156 is divisible by 13.
(€ (@-1)/a=5
a-1/a=5
Cube both the sides
a*-1/a® — 3xaxl/a x (a-1/a) =125
a*-1/a® -3x5 =125 (using equation (i))
a*-1/a*= 140
or, (a® -1)/a*>= 140
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90.

91.

92.

93.

94.

95.

(C) 1I0W x 12 =8x5M

-~

-~

M = 3W

Let total days required to complete the
complete work by 6 women and 3 men
be ‘y’.

(6W + 3M) y = 10Wx12

(10W x 12 is equal to the total work)
= (6W+9W) y = 10W x 12

= 15Wy = 10W x 12

=y = 8 days

Let the length of train A be 'l and the
length of train B be 'l,. Let their
respective speeds be 'U_ & 'U;
A.T.Q.,

3{(ll+lg)/(Ua+ Ub)} = (ll +lg)/Ua_ Ub

On solving the above equation,

=2U_ =40,

=>U/U, =2/1

Let the annual income = x

A.T.Q.,

= (x x1x 4/100) - (x x1x3.75/100) =
64

= x/100 x (4 - 3.75) = 64

= x = 64x100/.25

= x =325600

Let the number of mangoes the fruit
seller has originally be 100x

5% of total mangoes are rotten i.e. 5x
mangoes are rotten, remaining
mangoes = 95x

Seller sells 75% mangoes of remaining

i.e. 95x x m

Remaining mangoes = 95x — 71.25x =
95

=>x=4

Seller has initially 100x mangoes = 100
x 4 = 400 mangoes

(D) As, square root of 2222 = 47.13, so,

2222 is not a perfect square.

Square root of 11664 = 108, so, 11664
is a perfect square.

Square root of 343343 = 585.95, so,
343343 is not a perfect square.
Square root of 220347 = 469.41, so,
220347 is not a perfect square.

Thus, 1, 3 and 4 are not a perfect
square.

(D) Given that the ratio of the number of

boys in the first and the second
standards is 2 : 3 and the ratio The
number of boys in the second and third
standards is 4 : 5

Now, we calculate a common ratio for
all the three standards 2 : 3 and 4 :
Swillbe2 x4 :3x4=8:12and 4 x 3
:5%x3=12:15

Ph: 0955510888

96.

97.

> 099SS55208888

(B)

Therefore, the common ratio for all the
three standards 8 : 12 : 15

Sum of the ratio parts =8 + 12 + 15 =35
Numbers of the boys in the first

8
= —x350 =
standard 35 80

Number of boys in third standard

15
= —x350=
35>< 150

Total number of boys in the both

standards = 80 + 150 = 230

Let us assume the capacity of the tab

is 100L.

It is given that a tap can fill 100L in 10

hrs.

This means, in 1 hr. a tap can fill only

10L.

Therefore, in 7 hrs a tap can fill only

70L.

This means in 5 hrs a tap fills only 30L

but actually the tap should fill S50L in 5

hrs.

This means that there is a leakage of

20L which has duration of 5 hrs.

If 20L of water is leaked in 5 hrs, then
1

1L water is leaked om% = % hrs

This means 100L water is leaked in

1
ZXIOO = 25 hrs.

Let the radii of frustum of a cone be
'R'and r

. R :
Given that, 1° ...(1)
Let angle AC'O = angle ACO =6
Now, in triangle AC 'O":
h R

t G—E——A
an » k[s,

In triangle ACO,

2
1

> "1 ...(i)

; e_h+x_h+x
anvT TR T ok

From (ii) and (iii), we get

...(iii)
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98. (C)
99. (A)
100. (C)

h h+x
k 2k
h+x
2
=2h=h+x
=>h=x
Therefore, H=h+x=h + h=2h

H_ 2
“n 1

Now, volume of frustum of cone

k

= h=

h
- 5 (R +Rr+ )

1
and volume of cone = 3 nr*H

Reauired rafi _R*+Rr+r? —1—7'8
equired ratio o g~ 7
(443 +547)" + (443 - 547)°
(443 x 443) + (547 x 547)
Let a= 443, b = 547
Then,
(a+b) +(a-b) _
a’ + b’
a’+b*+2ab+a’+a’+b° -2ab
a’ + b’
_ 2a’+2b*
a’+b’
2(a2 + bQ)
- (a2 + b2)
=2x1=2
Ratio of weights of broken diamond =

1:2:3:4

Net weight = x +2x + 3x + 4x = 10x
Price = 1002

Price = 32 + 4x2 + 9x2 + 16x2 = 30X°
Net loss = 100x2 — 30x2 = 70x2
Now,

70x* = 70000

= x*= 1000

Price of original diamond = 100x
= 100 x 1000

= 100000

Let male = >
€t male 9

Female = %
emale = —

Ph: 0955510888

U ied females = X 5% , 30
nmarried females = 9 9 100
_Ax _x
9 6
: 8x —-3x
10
_5x
10
5—)CXIOO
18
% of unmarried females = Six . 47x
9 9
_ 5xx100 y i
18 9x
mpyad
9
101. (D) As Lead Tin
X:-1:2
Y:-2:3
) 25 25
Lead in 25 kg = " + 3
Tin in 25 k _25x2 _@
in in g ) 3
Now,
Lead in 125 ke = 125 x 2 _ =0
ead in g 33
Tin in 125 -50 =75
. . 25 175
Lead in mixture = 50 + — = ——
3 3
e . 275
Tine in mixture = 75 + = = =

Ratio of lead : Tin

175 275

3 3
011

102. (A) m
Q/\Q

Let D is diameter of each circle
Thus, side of square = D

Diagonal of square = /p2 , pz= D2
Diameter of shaded circle

-D,2 -D=D(V2-1]

> 099SS55208888
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6%+ 7% +8%+9? +10?
103- () 7745 —Ja+ 243
36+49+64+81+100
T Ja13+4y3 1431243

330
= \/22+(\/§)2+2x2x\/§—\/12+(\/§)2+2x1x\/§

= (23] - Jevaf

330
T VJ2+V3-1-43

330
=7 = 330

Let the number be x
A.T.Q.,

104. (B)

X —_
8x - e 2016
64x —x
8

= 63x=2016 x 8

= x =256
105. (D) Let speed of boat and stream be x and

y.

AT.Q.,

= = 2016

x—y=2=2

Adding (i) and (ii) we get

2x =12

=x=6

y=10-x=10-6=4

Thus, speed of stream be 4 km/hr
106. (D) Given, cost of 2.5 kg rice = Y125

125
Cost of 9 kg rice =X

2.5 7
= cost of 4 kg pulses
Cost of 14 kg pulses = =222 x14 =
ost o g pulses 55x4

cost of 1.5 kg tea

125x9x%x14 x2
2.5x4x1.5

Cost of 2 kg tea = = cost

of 5 kg nuts

125x9x14x2x11
2.5x4x1.5x5

Cost of 11 kg nuts =

Ph:

_125x9x14x2x11

2.5x4x15%x5 x100
=% 4620
107. (B) Let original speed be 100 then
increased
speed be 120 time taken in original
speed be t
Then time taken in increase speed be
(t—20)
As, distance in the both cases will be
same
So, 100t = 120(t- 20)
= St=6(t-20)
= S5t=6t- 120
= 6t-5t=120
= t= 120 minutes
4444)"*
108. (C) Q
9
(7)4444
= 5 [When 4444 is divided by 9]
( 24)1111
= 5 [Remainder will be 7]
(16)1111
= 9 [Or (-2) negative remainder]
1110
= (_2) 5 (_ ) [-2 nagative remainder]
. (_ 6)185 “ (_2)
9
_ (64)7 x(-2)
9
_ (@7 x(-2)
9
_Ix(2) 7
9 9
Hence remainder be 7
109. (D) As,

Mean of 300 number = 60

Sum of number _
300 -

= Sum of 300 numbers =
18000
Sum of top 100 numbers + sum of last
100 numbers = sum of
remaining numbers = 18000
Sum of remaining 100 numbers + 800
+ 500 = 18000
= Sum of remaining 100 numbers

300 x 60 =

09S5S551088S8

B, O09555208S8S8S 4 |
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= 18000 - 13000 = 5000
Mean of remaining 100 numbers

5000

100
Let sum invested at rate 5% be P, at
rate 6% be P, then at rate 9% = 17200-
(P,+P,)
A.T.Q.,
P x5x2/100 = P,x6x2/100 or P, = (6/5) P,
Also, P,x6x2/100 = [17200-(P,+P,)]*x9%2/100
= 2P, =[17200 - (11/5)P,] x 3
= (2 + 33/5)P, = 17200 x 3
P, = 17200 x 3 x 5/43 = 6000
=P =6/5P,=7200
= Sum invested at rate 9% = 17200 -
(6000+7200) = 4000
111. (C) (4a + 7b)(4c-7d) = (4a— Tb)(4c + 7d)
(4at+7b)/(4a -7b) = (4c + 7d)/(4c -7d)
Using componendo and dividendo
(4a + 7b) + (4a -7b) / (4a + 7b) — (4a-
7b) = (4c+ 7d) + (4c-7d) / (4c+ 7d) -
(4c-74d)
Or 8a/14b = 8c/14d
Ora/b=-c/d
Let A takes days to finish work = x
Let B takes days to finish work = x + 10
As A is thrice more efficient, hence B
will take 3 times the time taken by A.
x+ 10 = 3x
Solving, we get: x= 5
Time taken by B = x + 10 = 15 days
As XY235 is divisible by 3,
X +Y+ 2+ 3+ 5is divisible by 3
X +Y + 10 is divisible by 3
Also, X +Y <=5,
Hence (X + Y) can be 2 or 5 (as both 12
& 15 are divisible by 3)
For X + Y = 2, solution (1,1), (2,0)
For X +Y = 5, solution (5, 0), (4,1), (3,
2), (2, 3), (1,4)
Hence, there are 7 possible pairs.

680

12+5
=34000

110. (B)

112. (B)

113. (C)

114. (B) C.P. = x 100

140

S P. 100

= 4000 x

=¥5600

. 10 x 279
Net price = (100_10) 6.0 X5/kg

115. (C)

10 x 279
100 x 6.2
Difference = 5 - 4.5 = 0.50

Ph: 0955510888

Mark price = =34.5/kg

(75+65)
116. (D) Required ratio = (85+95) ~

140
180

O N

117. (C) Required percentage

{(70+80)
L

x100 %
95+110)

= 150 x100 (%
205
= 73.17%
118. (D) Average sales (in thousands number)
of branches B1, B3 and B6 in 200

1 (245)
3%(80+95+70) = | 5~

Average sales (in thousands number)
of branches B1, B2 and B3 in 2001

280

1
3 X(105 + 65 + 110) = ( 3 )

245

S_ 100 |%

. Required percentage =

245
(%Xlooj% = 87.5%

119. (B) Average sales of all the six branches
(in thousands numbers) for the year
2000
= éX[80+ 75+ 95+ 75+ 70]
=80
120. (D) Total sales of branches B1, B3 and B5
for both the years (in thousands
numbers)
= (80 + 105) + (95 +110) + (75 + 95)
= 560
121. (D) ftl idij feglj di “kd "kt uni* g mih iclj
if"pe cxty dk "kd “nkeknj unh* gA
122. (B) ftl idij ViLVfy;k di ent "Wkyj* g mlh ¢olj
nf{k.k vUidk di enk AjM* gA
123. (C)Zz+Y-Z=26,mlh idlj X +P-X = 16-
124. (C) ftl idyj] (7)2-7 =42
mih idij] (11)>-11 =110
125. (A) chext.kr] T;Kefr rfk vdxf.kr xf.kr dk Hix gh
126. (B) ftl idij]
(11)2+4 =125
(20)%> + 4 = 404
(16)2 + 4 = 260
mlh i ]
(14)2 + 4 = 200

, O95552088S8S
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127. (C) cra, CcTB, CTC
) 139. (A)
128. (C) ftl idij] @
33 +7 =40 40 .
i - = =5 ity
12 23 173>_> 7 140. (C) 141.  (B)
*3= 13 e 142. (A)
-~ = K'ki( - .
6+3 =9 > g~ MY 143. (A) 1"uulij]
mih 1dij] C>A>A=D>E
33 +4 =37 37 ) vri D, A | NiVk gh
60 =177 17 -3 iy
- 144 B) 1mi Air firt
129. (B) ftl idkj] T=20+4 =24 —>a0—> Yelgu
V=022+4=26 H/\cgu_ T“J'
L=12+4=16 dynhi °—>'{f%'jk0
it id] S =19+ 4 = 23 "y
130. (C) PQ% PQ’{’ PQ‘,;” PQ,‘F*’ PQ}; vrh ekgu] Inhi ok nink gh
+2  +3  +4 45 145. (A) ;0 t =3ct (t=1)=4ct] x=7feu
131. (A) ftl idi] 1% d vullij]
7x3="U =21 tctdj (5t + x)x12
5x3='0=15 feuV 1j AMh dh nkuk Bb;k xfeuV dh njh 1j gkxhh
6x4="X =24 S 3x7
9x2="R =18 - P22
le; =3ctd ( jxl2 feuv
mih idij] I
O9x1=T=9 = 3 ctdj 24 feuV-
132. (B) aanan 146. (D) cf, nk,
133. (B) j\1I:Iu jk{I eéI:k i\cI)/u d\kI:ky
g 12 (et |7 ek vrh clb vij 1 iFie LRlu "jtu* gh
C 147. (D) 36 -6+3 x5+ 3
e h =36x6+3+5-3
il- LFlu ¢ A o it =36x2+2
; D =72 +2
12 fdet- =74
vc] og VijfEd LFiu 1 nf{k.k fn'k e gh 148. (B) eluk f_d firk dh orelu wvk; = x o'
134. (C) efuk 1= dh orelu vk; =y o't
135. (A) 10V12M42L6S4 i'ul]
=10-12+42+6 x4 x+5=3(y+5)
=10-12+7 x4 x-3y=10 ()
- 10-12+28 =26 ius i'u 1] 5 0% igy
136. (A) ftl idij] X-5=7(y-5)
BEAUTIFUL — x-Ty=-30 ...(ii)
(¢: % gé I% H{* lerdj.k ) i i) ok gy dju ij
mlh idij] x-3y=10
(53 S
NDOK 45?{8
137. (B) i"uulij] Lo d el My i
(n2) x 12 e-(1)ey_ elu jlu 1j
=3 2)x 12 x-—3x10=10
=12 = x=40
138. (A) - firk dh orelu vk; =40 0'

Ph: O9555108888, 09555208888 6 |
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149. (D)
150. (A) tu = 5fru

tyib =31 fru

vxLr = 15 fnu

dy =51 fu

51 .

L T HixaQy 7 rFik 2 "K' wirk gA

c/okj + 2 fnu = "kdokj 155.
151. (A) 26 tuoji] 1997 = jfoolj

15 vxLr] 1997 = "i@olj

=19+7

=5 "ty il

= jfoolj + 5 "'k fnu 156. (D)

= "Kolj 157. (O)
152. (A) 158. (D)
153.(©¢ 159. (C) yixk di f'idi;r g fd R;igijk d elle e cl
154. (B) ftl idy] deV miyC/ ugh gir g blfy, 1jdij dk pifg,

CENIRAL fd ok R;igkjk d ekle e Tk B T;knk clk dhb

ViV ddd i 0;0LFk dji

ABCDEFG 160. (D)

UP SI ANSWER KEY - 42
1. (C) 21. (B) 41. (B) 61. (B) 81. (A) 101.(D) 121.(D) 141.(B)
2. (D) 22. (B) 42. (A) 62. (D) 82. (A)  102.(A) 122. (B) 142. (A)
3. (B) 23. (D) 43. (A) 63. (B) 83. (A) 103. (A) 123. (C) 143. (A)
4. (C) 24. (A) 44. (C) 64. (D) 84. (A) 104.(B) 124. (C) 144. (B)
5. (D) 25. (B) 45. (A) 65. (A) 85. (B) 105.(D) 125.(A) 145. (A)
6. (C) 26. (B) 46. (C) 66. (A) 86. (D) 106.(D) 126.(B) 146. (D)
7. (D) 27. (C) 47. (C) 67. (D) 87. (B) 107.(B) 127.(C) 147. (D)
8. (B) 28. (C) 48. (A) 68. (D) 88. (D) 108.(C) 128.(C) 148.(B)
9. (B) 29. (C) 49. (A) 69. (D) 89. (C) 109.(D) 129.(B) 149. (D)
10. (D) 30. (B) 50. (C) 70. (B) 90. (C) 110. (B) 130. (C)  150. (A)
11. (C) 31. (C) 51. (A) 71. (A) 91. (A) 111.(C) 131.(A) 151. (A)
12. (D) 32. (A) 52. (D) 72. (B) 92. (C) 112.(B) 132. (B) 152. (A)
13. (D) 33. (A) 53. (C) 173. (A) 93. (C) 113.(C) 133.(B) 153.(C)
14. (A) 34. (A) 54. (C) 74. (D) 94. (D) 114.(B) 134. (C) 154. (B)
15. (B) 35. (D) 55. (A) 75. (A) 95. (D) 115.(C) 135.(A) 155. (A)
16. (B) 36. (B) 56. (D) 76. (A) 96. (B) 116.(D) 136.(A) 156. (D)
17. (D) 37. (A) 57. (B) 77. (B) 97. (D) 117.(C) 137.(B) 157.(C)
18. (B) 38. (B) 58. (A) 178. (D) 98. (C) 118.(D) 138.(A) 158. (D)
19. (A) 39. (A) 59. (D) 79. (B) 99. (A) 119. (B) 139. (A) 159. (C)
20. (A) 40. (A) 60. (A) 80. (C) 100. (C) 120.(D) 140.(C) 160. (D)
Ph: 09555108888, O095552088S8S






